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Consider a spherical shell of radius R = 10 cm and charge q; =20 uC. A point charge g = +40
uC is located at the center of the shell. Calculate the clectric potential at

(@) r=8.0cm

ﬂAR \/:: ’PJ:_'%_' - ’%_%i
R 1t

= il ;
qx:IDq)( (—20x10 ) . LD x40xI0
D. | 0.0%

¢ ¢
13100 L 45«6 = fﬂﬁuo \f|

(b) r» =20 cm from the center of the sphere.
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1. Consider two points in an electric ficld. The potential at point P, is V|, = -140 V, and the
potential at point P, is V, =260 V.

(a) Draw the electric_ﬁgld lines between points P, and Ps.
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(b) How much work is required in moving a charge q = -12 pC from point P, to point P,.
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(¢) Assume the electric field has magnitude of 5000 V/m, what is the distance between points
PI and Pg?
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(a) Four identical point charges, each with charge q = + 30 pC, arc
placed at the corners of a rectangle, as shown in the figure. How
much work must be done to bring a charge Q = +56 uC from
infinity to point P, located at the midpoint of one of the 6.0-m
long sides of the rectangle?
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(b) Is work done by the clectric field or external agent? Why?
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